6 Homework 4 (due Sept. 26) Name: LolVTI O/‘}\g

Note that the homework is due on FRIDAY! The purpose of this homework is to explore
the tableau presentation of the simplex algorithm, and the method of artificial variables for
generating an initial basic feasible solution. A separate part of this homework also explores

Solver, the Excel LP tool.

General note on presenting solutions: The complete solution to an LP consists
EITHER of the statement that the problem is unbounded, OR the statement that it has no
feasible solution, OR the statement that it has a particular optimum value, achieved at a
particular point. When I say “write the solution to the problem in the space provided”, this
is what I am asking for. If you use LP Assistant (which you will have to for some of these
problems), you should take a screenshot of the LP Assistant tableaux and include it with
the homework you turn in. PLEASE be careful to label your screenshot printouts in such
a way that it is easy to match the printouts with the problems! Something like “Q 11 part

(p)” written prominently on the screenshot printout will do.
Reading: Sections 3.5 and 3.6, and the handout on Solver.

1. Problem set 3.5, question 1 (page 89). For each part, reproduce the tableau and either
circle all the entries on which is it valid to pivot, or say that the problem is completely
resolved (with specifics: either the solution is unbounded, or #i#® a particular optimum
is achieved by a particular solution). DON'T use LP Assistant!
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2. Problem set 3.5, question 2 (page 90). Feel free to ignore the instructions, and use LP
Assistant. Print out a screenshot of the LP Assistant solution, mark clearly which ques-
tion it belongs to, and in the space below write the solution to the problem (optimum,
point achieving optimum). Be careful getting the problems into canonical form!
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3. Problem set 3.6, question 1 (page 99), part (a). DON'T use LP Assistant!!!!
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4. Problem set 3.6, question 2 (page 99). For these three parts, please DO use LP Assis-
tant. Print out a screenshot of the LP Assistant solution, and in the space below write
the solution.
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5. Problem set 3.6, question 3 (page 100) (Setup the problem in the space below. Then
solve it using LP Assistant).
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6. Problem set 3.6, question 5 (page 101)
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